Discrete Pro Bability

An experiment is a procedure that yields one of possible outcomes. The sample space (spre of states) of the experiment is the set of all possible outcomes. Any event is a subset of sample space.  $E_X$ : H, T Sample space 3H, T] = S E = 3HS - event TS

 $\frac{Dck}{S} : \int f S is a finite nonempty sample space it candy lakely outcomes and E is an event which is a subset of S, then the probability of E is <math>p(E) = \frac{|E|}{|S|}$ 









13.1.48

$$P(E) = \frac{1}{\binom{52}{5}} \approx 0.00024$$

Complinets  $E, \overline{E} = S - \overline{E} - compliant set to \overline{E}$  $P(\vec{E}) = \frac{|\vec{E}|}{|S|} = \frac{|S| - |\vec{E}|}{|S|} = |-|\vec{E}| = |-P(\vec{E})|$ Put: P(E) + P(E) = 1Ex: A sequence of 10 bits randomly generated.  $P(b_{sub} at last one l) = \{0, ..., 0\}$ E  $P(\vec{E}) = \frac{1}{2^{10}}$  $p(E) = (-p(\overline{E}) = 1 - \frac{1}{1024}$ Tharems E, E2 - events in sample space S  $p(E_1 \cup E_2) = p(E_1) + p(E_2) - p(E_1 \cap E_2)$ E2  $\frac{P_{rwf}}{ISI} = \frac{|E_i \vee E_2|}{|S|} = \frac{|E_i | + |E_2| - |E_i \cap E_i|}{|S|}$  $= p(E_1) + p(E_2) - p(E_1 \cap E_2)$  $E_{Y}: 1 \leq h \leq (0) \cdot P(2|n \vee s|n)$ F 2/n ENE, 21n / SIn E2 Sln  $E_1 = 50$ ,  $E_2 = 20$ ,  $(F_1 \cap F_2) = 0$  $P(E, UE_2) = \frac{50 + 20 - 10}{100} = \frac{1}{5}$ 

$$\begin{array}{c} \underline{Cardentrude productively}\\ \hline Ev: Much Hall 3-days precele (av, gut)\\ \hline Eys G, B\\ Two children in the trunch, and is a log
P (the other child is a log?)
S = { B B, B G, G B, GG} P (BB? = {1 \over 9})
Delt the exacts E, F, P(E) > 0. The conditional problem generating
of E given F is
P (EIF) =  $\frac{P(EOF)}{P(E)} = \frac{1/4}{3\frac{1}{57}} = {1 \over 3}$   
The courts E and F are independent if P(EOF)  
Ex: E = bit solvy legas with 1  
F = bit solvy legas with 2  
(100 0000  
(100 0000  
(100 0000  
(100 0000  
(100 0000  
(100 0000  
(100 0000  
(100 0000  
(100 0000  
(100 0000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
(100 000  
($$

bayrs' Theren  
Ex: 0 2,7 2  
Chorte: I self a dox  
2 solid a ball  
E red F first dox  
E red F first dox  
E green F second dox  

$$P(F|E)$$
  
 $P(F|E) = \frac{P(E|F) P(F)}{P(E)}$   
 $P(F) = P(F|E) = \frac{P(E|F) P(F)}{P(E)} + P(E|F) P(F)$   
 $P(F) = P(F|E) = \frac{P(E|F) P(F)}{P(E)} + P(E|F) P(F)$   
 $P(F) = P(E|F) P(F) + P(E|F) P(F)$   
 $P(F) = \frac{1}{2} P(E|F) = \frac{7}{4} + \frac{3}{2} + \frac{7}{2} = \frac{7}{18} + \frac{3}{49} - \frac{76}{126}$   
 $P(F)E) = \frac{7}{4} + \frac{1}{2} + \frac{3}{7} + \frac{1}{2} = \frac{7}{18} + \frac{3}{49} - \frac{76}{126}$   
 $P(F|E) = \frac{P(E\cap F)}{P(E)} - count housed pollability
 $P(F|E) = \frac{P(E\cap F)}{P(E)} = p(F) P(F) P(F) = p(F) P(F)E)$   
 $Ford P(E)$   
 $Ford P(E)$   
 $Ford P(E)$   
 $Ford P(E)$   
 $E = E \cap S = F \cap (F \cup F)$   
 $= (E \cap F) \cup (E \cap F)$   
 $F \cup F = S$   
 $E = E \cap S = F \cap (F \cup F)$   
 $F \cup F = S$   
 $F \cup F = S$   
 $F \cup F = S$   
 $F \cap F = O$$ 

$$S_{P} \quad P[E] = P(E \cap F) + P(E \cap F)$$

$$= P(E|F) P(F) + P(E|F) P(F)$$
Generalized Bayes' theorem. Let  $E \in S$  be an event in the sample space
$$F_{i}, F_{2} \dots F_{n} - mutually exclusive events \quad (F_{i} \cap F_{i} = \emptyset) \text{ and}$$

$$\bigcup_{i=1}^{N} F_{i} = S, \quad Assume \quad P(E) \neq o, \quad P(F_{i}) \neq o \quad \forall i, \quad E \neq o,$$

$$P(F_{i}|E) = \frac{P(E|F_{i}) \cdot P(F_{i})}{\sum_{i=1}^{N} P(E|F_{i}) P(F_{i})}$$

Prove as an exercised  
Bayes span differs: Forged word "Apple Valch" in 250 and of 2000  
mussages hnow to be span and 5 in 1000 and known out to be lesson.  
Freker is set at 90%. Will a mesiage dar die breker?  

$$P(Apple Naker) = \frac{250}{2000} = 0.125 - span probability
E.  $q(Apple Naker) = \frac{5}{1000} = 0.005 - vot span probability
E.  $q(Apple Naker) = \frac{5}{1000} = 0.005 - vot span probability
F.  $q(Apple Naker) = \frac{5}{1000} = 0.005 - vot span probability
F.  $q(Apple Naker) = \frac{5}{1000} = 0.005 - vot span probability
F.  $q(Apple Naker) = \frac{1}{1000} = 0.005 - vot span probability
F.  $q(Apple Naker) = \frac{p(E|P) \cdot p(F)}{p(E|P) \cdot p(F)} = p(P) = \frac{1}{2}$   
 $r(Apple Naker) = \frac{p(E|P) \cdot p(F)}{p(E|P) \cdot p(F)} + p(E|F) \cdot p(F)}$   
 $= \frac{p(Apple Naker) \cdot \frac{1}{2}}{p(Apple Naker) \cdot \frac{1}{2}} = \frac{0.125}{0.107 \times 0.057}$   
 $= \frac{1257}{(30)} > 0.9$   
Och: A sandom variable is a freedom bar same span sound streeds$$$$$$$

Use: A random variable is a treation from sample space S to reas  

$$S \rightarrow IR$$
  
 $S = \frac{2}{H}, T_{s}^{2} \rightarrow \frac{2}{0}, I_{s}^{2}$   
 $g_{arms}$ 

$$\frac{|E|}{|H|H|} = \frac{|(H+K, HT)|}{|K|} = \frac{|X| - random invidele}{|X|} = \frac{|X|}{|K|} =$$

 $\frac{Det}{K}: The expected value (expected value) of the random variable X or$ the sample space S cs $<math display="block">\left(X = \langle X \rangle = \right) E(X) = \sum_{s \in S} p(s) \cdot X(s)$   $s \in S$   $The eleviation of X at s \in S is X(s) - E(X)$   $E_{X}: Tall on diret$ X - number on the diret $<math display="block">E(X) = \frac{1}{6} \cdot 1 + \frac{1}{6} \cdot 2 + \frac{1}{6} \cdot 3 + \frac{1}{6} \cdot 6 = \frac{21}{6}$   $= \frac{7}{2} = 35$ 

$$E_{X}: 3 \text{ poin bises}, X - b \text{ bel number of beads}$$

$$E(x) = \frac{1}{8} \left( X(\text{HHH}) + \frac{3}{X(\text{HHH}) + X(\text{HH}) + X(\text{THT})} + \frac{1}{X(\text{THT}) + X(\text{HHT}) + X(\text{THT})} + \frac{1}{X(\text{TTH}) + X(\text{THT})} + \frac{1}{X(\text{TTT})} \right)$$

$$= \frac{12}{8} = \frac{3}{2}$$

$$= \begin{cases} X (3H) + \frac{3}{8} X (2H, IT) + \frac{3}{8} X (1H, 2T) + \frac{1}{8} X (3T) \\ 1 & 1 \\ 1 &$$



$$\frac{3}{4} \frac{4}{5} \frac{5}{6} \frac{3}{7} \frac{3}{6} \frac{1}{7} \frac{1}$$

$$E_{Y1} = 2 \text{ dite:} \qquad |\text{dire} \qquad (\text{dire}) = \frac{1}{2}$$

$$E(X_{1}+X_{1})=7 \quad E(X_{1})=\frac{1}{2} \quad E(X_{2})=\frac{1}{2}$$

$$E(X_{1}+X_{1})=E(X_{1})+E(X_{2})$$

$$\frac{1}{2} \quad E(X_{1}+X_{1})=E(X_{1})+E(X_{2})$$

$$\frac{1}{2} \quad (X + X \text{ lo a onder wordle on } S$$

$$\text{Variance } \quad (x + X \text{ lo a onder wordle on } S$$

$$\text{Variance } \quad (x + X \text{ lo a onder wordle on } S$$

$$\text{Variance } \quad (X + E(X_{1}) - E(X_{1})^{2})$$

$$\text{Therem:} \quad V(X) = E(X_{1}^{2}) - E(X_{1})^{2}$$

$$\text{Functor:} \quad V(X) = E(X_{1}^{2}) - E(X_{1})^{2}$$

$$\text{Functor:} \quad V(X) = \frac{1}{2} (X(s) - E(s))^{2} p(s)$$

$$= E(X^{2}) - 2 E(X) \sum_{x \in S} X(s) p(s)$$

$$= E(X^{2}) - 2 E(X)^{2} + E(x)^{2}$$

$$= E(X^{2}) - 2 E(X)^{2} + E(x)^{2}$$

$$\text{Free Bernoulli bind w/ pobability P} \quad tc S = \frac{1}{2} \text{ success, failows}$$

$$\frac{1}{2} (X^{2}) = P_{1} + E(x)^{2} = P \quad (X^{2}) = P \quad (X$$

$$V(X) = \frac{1}{6} - \frac{1}{9} = \frac{1}{12} + \frac{1}{12} = \frac{1}{12} - \frac{1}{12} = \frac{1}{12} - \frac{1}{12} - \frac{1}{12} = \frac{1}{12} - \frac{1}$$

$$\frac{Prop + E}{V(x + Y)} = E((x + Y)^{2}) - (E(x + Y))^{2} = E(x^{2} + 2XY + Y^{2}) - (E(x + EY))^{2}$$

$$= (E(x^{2}) + 2E(XY) + E(Y^{2}))^{2}$$

$$= E(x)^{2} - 2E(X + E(Y)) - E(Y)^{2}$$

$$V(Y)$$

$$= V(X) + V(Y)$$

$$V(X) = \sum_{s \in S} (X(s) - E(x)) p(s) = 2 (X(s) - E(x)) p(s)$$

$$P(A) + \sum_{s \in S - A} (x_A) - E(A) (p(s))$$

$$V(X) \ge r^2 \sum_{s \in A} p(s) = 7 \quad p(A) \le \frac{V(x)}{r^2}$$

$$E(X) \ge \frac{n}{2} \quad r = \sqrt{n} \quad V(X) \ge \frac{n}{4}$$

$$P((X(s) - \frac{n}{2} | 2 \sin) \le \frac{n}{4} \quad r = \frac{1}{4}$$

$$P((X(s) - \frac{n}{2} | 2 \sin) \le \frac{n}{4} \quad r = \frac{1}{4}$$

$$P((X(s) - \frac{n}{2} | 2 \sin) \le \frac{n}{4} \quad r = \frac{1}{4}$$

$$P((X(s) - \frac{n}{2} | 2 \sin) \le \frac{n}{4} \quad r = \frac{1}{4}$$

$$P(A) \le \frac{n}{r^2} \quad r = \sqrt{n} \quad V(X) \ge \frac{n}{4}$$

$$P(A) \le \frac{n}{r^2} \quad r = \sqrt{n} \quad V(X) = \frac{n}{4}$$

$$P(A) \le \frac{n}{r^2} \quad r = \sqrt{n} \quad V(X) = \frac{n}{4}$$

$$P(A) \le \frac{n}{r^2} \quad r = \sqrt{n} \quad V(X) = \frac{n}{4}$$

$$P(A) \le \frac{n}{r^2} \quad r = \sqrt{n} \quad V(X) = \frac{n}{4}$$

$$P(A) \le \frac{n}{r^2} \quad r = \sqrt{n} \quad V(X) = \frac{n}{4}$$

$$P(A) \le \frac{n}{r^2} \quad r = \sqrt{n} \quad V(X) = \frac{n}{4}$$

$$P(A) \le \frac{n}{r^2} \quad r = \sqrt{n} \quad V(X) = \frac{n}{4}$$

$$P(A) \le \frac{n}{r^2} \quad r = \sqrt{n} \quad V(X) = \frac{n}{4}$$

$$P(A) \le \frac{n}{r^2} \quad r = \sqrt{n} \quad V(X) = \frac{n}{4}$$

$$P(A) \le \frac{n}{r^2} \quad r = \sqrt{n} \quad V(X) = \frac{n}{4}$$

$$P(A) \le \frac{n}{r^2} \quad r = \sqrt{n} \quad V(X) = \frac{n}{4}$$

$$P(A) \le \frac{n}{r^2} \quad r = \sqrt{n} \quad V(X) = \frac{n}{4}$$

$$P(A) \le \frac{n}{r^2} \quad r = \sqrt{n} \quad V(X) = \frac{n}{4}$$

$$P(A) \le \frac{n}{r^2} \quad r = \sqrt{n} \quad V(X) = \frac{n}{4}$$

$$P(A) = \frac{n}{r^2} \quad r = \sqrt{n} \quad V(X) = \frac{n}{4}$$

$$P(A) = \frac{n}{r^2} \quad r = \sqrt{n} \quad V(X) = \frac{n}{4}$$

$$P(A) = \frac{n}{r^2} \quad r = \sqrt{n} \quad r = \sqrt{n} \quad r = \frac{n}{4}$$

$$P(A) = \frac{n}{r^2} \quad r = \sqrt{n} \quad r = \sqrt{n} \quad r = \frac{n}{4}$$

$$P(A) = \frac{n}{r^2} \quad r = \sqrt{n} \quad r = \sqrt{n} \quad r = \frac{n}{4}$$

$$P(A) = \frac{n}{r^2} \quad r = \sqrt{n} \quad r = \sqrt{n} \quad r = \frac{n}{4}$$

$$P(A) = \frac{n}{r^2} \quad r = \sqrt{n} \quad r = \sqrt{n} \quad r = \frac{n}{4}$$

$$P(A) = \frac{n}{r^2} \quad r = \sqrt{n} \quad r = \frac{n}{4}$$

$$P(A) = \frac{n}{r^2} \quad r = \sqrt{n} \quad r = \frac{n}{4}$$

$$P(A) = \frac{n}{r^2} \quad r = \sqrt{n} \quad r = \frac{n}{4}$$

$$P(A) = \frac{n}{r^2} \quad r = \sqrt{n} \quad r = \frac{n}{4}$$

$$P(A) = \frac{n}{r^2} \quad r = \sqrt{n} \quad r = \frac{n}{4}$$

$$P(A) = \frac{n}{r^2} \quad r = \sqrt{n} \quad r = \frac{n}{4}$$

$$P(A) = \frac{n}{r^2} \quad r = \sqrt{n} \quad r = \frac{n}{7}$$

$$P(A) = \frac{n}{r^2} \quad r = \sqrt{n} \quad r = \frac{n}{7}$$

$$P(A) = \frac{n}{r^2} \quad r = \sqrt{n} \quad r = \frac{n}{7}$$

$$P(A) = \frac{n}{r^2} \quad r = \sqrt{n} \quad r = \frac{n}{7}$$

$$P(A) = \frac{n}{r^2} \quad r = \sqrt{n} \quad r = \frac{n}{7}$$

$$P(A) = \frac{n}{r^2} \quad r = \sqrt{n} \quad r = \frac{n}{7}$$

$$P(A) = \frac{n}{r^2} \quad r = \sqrt{n} \quad r = \frac$$

There is (individue - exclusion) 
$$U_{n} A_{n} \dots A_{n} - finite codes$$
  
Then  $|A_{1} \cup A_{1} \cup \dots \cup A_{n}| = \sum_{i=1}^{n} |A_{i}| - \sum_{1 \leq i \leq j \leq n} |A_{i} \cap A_{j}|$   
 $+ \sum_{1 \leq i \leq j \leq n \leq n} |A_{i} \cap A_{j} \cap A_{i}| - \dots - \sum_{1 \leq i \leq j \leq n \leq n} |A_{i} \cap A_{i} \cap A_{i} \cap A_{i} \cap A_{i}|$   
Product: Suppose a is on element of exactly  $r$  rate and of  $A_{i} \dots A_{n}$   
 $|Cr \cap A_{i} \cap A_{i}$ 

According to the inclusion - exclusion principle

$$\begin{split} D_{n} &= \mathcal{N} - \sum_{i} \mathcal{N}(P_{i}) + \sum_{i \in j} \mathcal{N}(P_{i} P_{j}) + \dots + (-1)^{n-1} \mathcal{N}(P_{i}...P_{i}) \\ &= n! \\ \mathcal{N}(P_{i}) = (n-1)! \quad \leftarrow \begin{pmatrix} n \\ 1 \end{pmatrix} \quad u_{n3} \\ \mathcal{N}(P_{i}) = (n-2)! \quad \leftarrow \begin{pmatrix} n \\ 2 \end{pmatrix} \quad u_{n3} \\ &= n! \\ \mathcal{N}(P_{i},...,P_{i,n}) = (n-n)! \quad \leftarrow \begin{pmatrix} n \\ 2 \end{pmatrix} \quad u_{n3} \\ &= n! \\ \mathcal{N}(P_{i},...,P_{i,n}) = (n-n)! \quad \leftarrow \begin{pmatrix} n \\ 2 \end{pmatrix} \quad u_{n3} \\ &= n! \\ = n! - \frac{n!}{(1!(n-1)!)} \quad (n-n)! \quad \leftarrow \begin{pmatrix} n \\ 2 \end{pmatrix} \quad (n-2)! \quad + \dots + (n!)^{n-1} \begin{pmatrix} n \\ n \end{pmatrix} \cdot l! \\ &= n! \\ = n! \\ = n! \\ (1 - \frac{1}{l!} + \frac{1}{2!!} = \dots \\ (1 - \frac{1}{l!} + \frac{1}{2!!} = \dots \\ (1 - \frac{1}{l!!} + \frac{1}{2!!} = \dots \\ (1 - \frac{1}{n!!} + \frac{1}{n!!} = \dots \\ (1 - \frac{1}{n!!} + \frac{1}{2!!} = \dots \\ (1 - \frac{1}{n!!} + \frac{1}{n!} = \dots \\ (1 - \frac{1}{n!} + \frac{1}{n!} + \frac{1}{n!} \\ (1 - \frac{1}{n$$